Horéwoe e 3 SOLUTION &

@ Ve
o NS
Fop TURNING Poy T4
3 il S E = V(x)=¢>
_I=—-:L\ _/JY&H-._
| AE howe ot
\/\r= ')C'-"'Q/Efvﬂ\:-l‘-ﬂ'
= — Vo =i
Vol ]
Thex Qe ha  Migedd ma,g j tbueh
M=o . d i
+T
Mo, (} ooy dse = (Nl )T
St
= T./ -Ii
) 2 \§-lt"(ri+vo——‘_’1\xﬂ oA x e
L& J L kh° L J
Kexh = n._;m (E-W:\:Y] ﬂm (Mwm_#maﬂza-_ﬁqeﬁ
R? & 5
Ny Yy = 9  |2M (E+W\“V\ — Yo X \né’:r
B 2 = ale1v,)
: @
T L
= lEeEly () o i
J h* J T
e s
L33 =
= (ﬂflfgjvz 4T PmCervy) — 4a Em (Evv,)
| B i "




+° Vo
34
(e M= 4 oo (ExV.)
3J 0 Vo
(Nt DT _ 40 fE+Vo\ ©
SE
2.
En= Vo Vo [ 3 (nrp) W] ~

[N\

e edea bl B O

20 (n+B))T 21|

N=0, 1, 2,3 avw Ol

Em: _'?‘6., —-5(-_}-—'3@ L=l

% 5
/fr ~

A ]




I
-
X
TS
I
Ly
B

%M—W% L

L’M’ld A:— j ?-:’1“}0/.1

Q

m@mmfﬁd«hﬂ kg A= _\"i": L

F:
RN | L
grzy= [2m (Ve ~E) = |4dM |\ _e |2 fme [b R
/ V Z J'ﬁ‘? | x| ) _L-‘Z qu J
S0 b b g,

+ 2 JLx

o= g?rf‘:d:{_- Irmg .2 (Fb 1| oy —

(S
1 Q
fa )

__L,'Ig ;1-—:’mam)o{5:— bTI’ZZ/




5\‘. J \_\L___- (:m Z:)cmm vmﬂfi nlj_
5\\_ GhE @
b e B
qme, E
f=u T-= Exgﬂ'-,’l/\
I\ = S?H—)ofw
il I
= Smm te®d —Elc . 4 1 I
W [arer || Y|
A= [am @2 \2
L'rﬁz "LHTED)
bl _. | N
I _Lhﬁo{w wva Pz b o :Jaé'{r’rmzm\a’m
e B : -
| O
— bt T
/’2 y
SN - ALT - T e lam
a 2 4mE., JREE



